Year 5 Homework, Summer Term Week 5
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? x 1000 = 21,100

3456 - 2971 =

What is 1243 + 4?
Round 892.2 to the nearest 100.

8677 x 67 =

Maths: Speedy Six

Y

? x 1000 = 2.3

1.
2. 2454.11 - 987.88 =
3. 21342 x99 =

4.
5
6

3456 +~ 8 =

. What is 99% of 5507
. The perimeter of a regular heptagon is
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What is 15% of 350?

49cm — what would be the length of

one sid

e?

/

Quick Comprehension: Complete the reading comprehension. Children should allow themselves one

minute to read the text, and five/ten minutes to answer the questions. Some of the questions are quite
tricky, so don’t worry if you have to talk them through with an adult.
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Spellings
Green Purple
suspect window
suspend island
suspended | pressure
sustain beautiful
sustaining | jokingly
our relative
mouse narrative
shouted active
town massive
how every

\_

/

Match each shape on the left to one with equal area on the right.

Optional Maths Extension:

One bonus house point available

One has been done for you.
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Homework is due in on 23" May
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